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Q.1 {A) Attempt any TWO of the fallowing :
() Which of the following sentences ane slabements
{a) A cyclic rapezium has its non-parallel sides congruent.
b} Do you like Mathematics ?
(e} The suan rises in the easi. i
(i) Debermine whether the following statement pattern is a “moology” or a ‘contradicion’ or
‘neliber” of the two @ [np'-'q!-l-p.n:quuq} ()
() Using the truth table, show tha
~{pesqimipa= qlv (ga- p] 3
(3] m#n'_rnﬂlﬂmuhui‘:

F
:
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(1) Find the values of K it the lines represenbed by Kix? = ) = Sxy are co-incident. (z)
(i) Find the lengths of intercepts made by the crcle

1+ 3 # Ix - Ty = 3 = 0 on the co-oedina e axes. (Z)

Q. 2 (A} Attempt amy TWO of the fallowing : L]

(i) Find T if the vectors i+ pj -3k, 2i + j - 4kand i = | « k are co-planar. i)

i} Using Vector method, show that the “medians of a triangle are concurrent.” (3
(i) H;.E;mhummmphﬂm hnprmwﬂltiﬂ'iﬁhr;hhw
mhwﬁuﬂrmmdu:hwmﬂuﬂmE* ﬁ-ﬁ,@ﬂruﬂ:mm

(B  Attespt any ONE of the following ! .
{1} If Dvis the mid-point of seg AB and E is the mid-point of seg CD,

@

then show that AC + BD =2 DE . i2)

{li} Find the volame of the parallelopiped formed by the wechors
awi+2]+3k bulie]edbandcndiedjrk @)
Q3 AD (a) Atbenpt any ONE of the following @ IE
3
3

4 33
i) WA= [4 0 ]mrﬂ#ﬁmmﬂ

(@) Solve the following equations by Reduction method.
r-ytzmd E:fy—l-? r+ly+z=B
(11} Ahwturﬂﬂlﬂhmhﬂq
(i) 1 ks the measure of woule angle between the Enes represented by ax? « By « byf = 0, then

' = gl
ot D]

() Fidlquaﬂmdlmhlhtdmhﬂtftiplaﬁu-hlhpﬂﬂFth..n].
-] mm mllufh{nllu'lnl

A m-mumm-ﬁmmmmhﬂm»
lndhu:ﬂmll‘nrﬂiuﬂ machine costs

Hon be can sell a tof Rs. 22 uuh machine ata profif of

z 2

E

His that
B.IL!E ﬂuﬂmhmﬂlﬂm he can formudabe problem asa LPP,
® mmmpm i

fond awlmhhmﬁuﬂﬂﬂmummmwuugﬁ

B
3
"ﬂll.:l'lﬁ'ﬂ 1
4

rentrﬂ uhhﬁdhmnﬁlnd 14 units respectively. Formulabe
nuLI"_? 1o mindrmize the cost.

I:I'IWH Aﬂnﬂlmmﬁhm- (L]
(i) Find the values of p and q if the equation 12 xf + Txy - py + w.rav“«fﬁ-ﬂ'nprmlplh
of perpendicular lnes.
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Q.3 (A) Atempt any ONE of the following : 18]

(i} A company manufactures two models of cars : Model A and Model B, To stay in husiness it
must produce atleast 50 cars of model A per month. 1t has facilitics to produce at most 200
cars of a model A and 150 cars of model B per month. The total demand for both models
twgether is at most 300 cars per month.

The profit per car is Rs. 4000 for model A and Rs. 3000 for model B. It is required to
determine the number of cars of each type to be manufactured so as 1o get maximum profit.
Formulate this problem as a L.P.P. )

(ii} Represent graphically, the common solution set of inequalities 3x + y S 6, x + y < 4,
x4 3y=22 x20,y 20 Also find the co-ordinaics of the vertices of the feasible region so
obiained. (2}

(B) Attempt any ONE of the following :

1
(i) If for & binomial distribution probability of success is pmand the mean is 12.5, find the
of the Tbuti 2
(i) The probability that A wins a game of chess againg B'is ;L Find the probability that A wins

atleast ‘'one’ game oul of the 4 games he plays against BY 2)
{C) Attempt any. ONE of the following :
(i) Por the given data write the entries in the colunif dx., qx, px and Ix of the life table, where
()

notion Iuav: thei msnal meanings.
| & | -8
*Wﬂm]..__ r“’@!‘..l._"l!!. 0]
arked by

(ii) For the folrw g table find thetermy marked by 7. )
[k Ie i ()% v | e e
[5 L 50N = P =
3 20 > = o
Q4(A) mmnpa any ONE of the following : 18]
(i) If X is a Poisson random variable such thar P{X = 3) = P(X = 4}, find the mean and standard
deviation of the distribution, 2}
(ii) If X is a Poisson variate with fiiean 3, find P(X 2 2). [Given : ™ = 0.0498]. @
{B) Attempt any ONE of the following :
(i) Construct cost of living index number for the following data : R
Group Base Year Current vear
s Price Quantity Price
Food and Clothing 40 3 0
Fuel and lighting 30 3 &0
House Rent 50 2 50 |
Miscellancous 60 3 90 |

(i1} The cost of living index numbers for the years : ocn and 2007 ar 150 and 200 respectively.
A person camed Rs. 18.000 per month in the year 2001. What should be his caming per
menth in the year 2007, so as 1o maintain his rﬁnnu {i.e. of the year 2001) standard of
living 7
{C) Attempt any ONE of the following :
(i} Find [{3-5), using Newton’s Backward l\ll_l'mlltlml Iormulu from thve following table : (4)
i x—r‘o—{—r 5
[ } l8 | 7
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Q. 6.(B) Attempt any TWO of the following: (5]
(i) Ranking of 8 trainees at the beginning (X) and at the end (Y) of a certain course are
given below :

Trainees | A | B | C | D | E |

X 1 | s]4a]ls]s
Y AEIEAERES
Calculate Spearman’s rank correlation coefficient. (4)

(i{) A computer centre has four expert programmers. The centre needs four application
programmes to be developed. The head of the computer centre, after studying carefully
the programmes to be developed, estimates the computer time in minutes required by

*  the experts to develop the application programmes as !"nll-n'-"l

Programmes
Programmers | 1 2 2 ] 4 A
Times in minutes L
120 100 80 S
&80 20 110 ¢ 70
C_ 110 | 140 120 100
D a0 90 [ 8h, 80

How should I;I:Iu head of the computer nmu aligu the programmes to the
programmers 8o that the total hmurﬂwummmum ? (4)

(iii) From the data of 7 pairs of Mmﬂm X and Y following results are obtained :
D(x-10)= -38 T(nO0) 58  F(x-70) =299
(3 ~60)" =475, E( 1 70) (3, ~60) = 1063,
Obtain : ]

(a) The line nfregrmmiﬁ'un X.
(b) The line of regressionof Xon Y. ()

o | oo | 3
=3

l.-m'q

A0 B

Visit www_shaalaa com for more question papers

(3} Stalfimg is mainly related with ..o
4 To provide guality goods iz the social responsibility of business

organisation mwands

(5) World Trade Organisation was astablished in the year .o

(D) Write a word or a phrase or a term which can be suitable for

each ane of the following statements : (5)
{1} Stae the naume of commission wheh settles the cluims of the
consumers of more han @ l-crofe,

(2)  State the level of management in which Chass-1 exccutives are
invalved,

(31 State the name of the expert who put forth I pnciples of
minagement.

(4} The person who developed the congept ofyTtal Quality
Management.

(3} The Head of the Joim HindyFynly Business

Q. 2. Wiite short notes on any THREE of the following : 181
“Y  Features of DisasterMupdgement
) Imponance L:_I!-L:cuw'{nxlmn
{3 Moblems 8 Consumers.
(4)  Evem Msfapdmont
(31 Necd of Liberalization

Q. 3. Distinguish between the following. (Any THREE) : [15]
“{1) Joint Hindu Family Business and Sole Trading Concern,
{2} Controlling and Directing
¥4 State Commibssion amd Natonal Commission
Jd) Lower Level Management and Middle Level Management.

(31 Stanory Corporation and Government Depanment

-,n,- §|6|4| Page 4 PTO
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- N
(i) 1F A , compute the matrix A !
S
- |
(Y Altempd any ONE of the follew ing : )]
s
|

" il
FES o |
(1) Evalunte | 'L'-._I 3 = A
= N T3

i ) sin"x + 2c08" % + 3 dx
. A4(A) Attempt any ONE of the following : (2}
the price per unit of & commodity is given by p= [0 JLIfI. . where x ig the number of units
sold, lind the marginal revenue when x = 4000,
{1} The total cost function, C is given by C = x |4x + 8, where x 1s the output
Find the autput for which the total cost is increasing.
(B) Attemptl any ONE of the following : (23
1} Wrile the duals of thedollowing statements
(3] Ihe him receives an award for its story or for its direction
N g ._|; (=)
ey Stale giving reason, which of the following statement have the same me&aning ;
(a) 1f monsoon is good then farmers are happy.
(b) 1t farmers are happy the monsoon is good
I maonsoon 15 not good then farmers are not happy
(d}) If farmiers are not happy then the monsaan is not oo
(C) Attemipt any ONE of the lollowing : 4)

= o | y
L1y d Fil o

11 Lowal o

¥ 0 \sin dx log (1 =+ x))

(i) Fund k, ol the function | defined a5 :
'.-i_ -'|!I i = oG X
fix) - gaEm—
2 =)
15 continwous atx =
(.5(A) Attempt any ONE of the following : (4]
(1) It the rate at which the profit of a company 15 increasing 1s inversely proportional 1o the profit
| EraLt LErmE, O EE I.II‘..' EXPressEon [} the -.,'r1|r|||.,|.'|:."l-\. |1rr_~:'|| Wl ANy mme. 1
(Profil = 0 when § = 0)
tiey If the marginal cost of a commeodity is equal io-its average cost, prove that the total cost is
directly proportional 1o the number of units produced
(B} Attempt any ONE of the following : (2)
(1) Discuss the continuity of the function fdefined as
- | II
s 5 .
Xy = .'-_:".II"-.-'I.I B X =y
[im
. COE X
{11} Evalente e
X =+5 (m=2x%)
{C) Attempt any ONE of the following : (4)
F S
i Yy o
[fe'+ g =g Prove that 35 = - &'
F L]
Ll +z)
(i) [ nrl—" ] B .
an x
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sosreviD acitjAmetaM a01g3AL 1 olutApaC snoituloS shtaM ecremmoC ht21 draoB etatS arthsarahaM .0 = YX :Q .02 = 01 + 4 :Q .03 °4 02 + 01 euq oslaf ©A ,0A 03 =02 + 01 ed 0£A§Aagen a .T ofAs amica edadrev ed alebat ad anuloc amitl?A an sadartne sa sadoT 1)Q ~( §A pl’ ‘A Dp ~(° ‘A )P([ :0£A§Aulos Dpl )p[ Dp ~()q §A p([ )i( alcnaAgmtnoc amu
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o£A§AuloS .03 ¢A 3-3AA 01 sioped ,7 = 3" -4 ¢A 01 eS )ii( .01 atnugreP .81< 2x izafsitas o£EAn A 8,7 ,6 ,5 = X :0£A§AuloS .11 atnugreP .zilef ©A elE :Q .sacitn2Adi o£As 6 e 4 sanuloc san sadartne sA p~ §A )Q nA °a ¢A g SA p ~ :0£A§AuloS P ~ §A) Q "A P( ° °a°a¢Aq8Ap ~ )v()p ~ 8A q( ~ 8A §A )q ~ p( ~iAiA ¢A ¢A ¢A .omsem ©A rapmA
orem?An reuqglauq ed odardauq o )xi( .1 = x arap 0 = 1 + x2" —4 ¢A 2x sioped ,1 >9 es )II( If ... ... | =& ¢A .orud ohlabart of£An uE :P exieD :0£A§AuloS .6 = 3 + 2 :p exieD :0£A§AuloS .atnemua of£An o§Aerp uo iac o£An adnamed a )ii( .etsixe avruc a arap etnegnaT :Q eerht gniwollof eht redisnoC .3 noitseuQ .tekcirc naidnl tneserp eht fo srebmem
dettimmoc lla fo tes : Y tekcirc naidnl tneserp fo srebmem lla fo tes : X gnieb namuh lla fo tes : U teL :noituloS .ahba$S ayjaR eht fo rebmem a si eh ro hctam eht niw ton seod nihca$ :noituloS q A AA¢ p~ )iii( .yhtgnel si foorP : p fI .tluda na si dlihc oN )vi( :woleb sa si tnemetats nevig eht fo hturt eht stneserper margaid nneV eht nehT .F .e.i ,eslaf era
q~ dna p~ A’A’AA¢ .gnitseretni si ti tub yhtgnel si forp eht taht eurt ton si tI )iii( .F si ¢ AA¢ p fo eulav hturt eht ht ht A A .srebmun larutan era sregetni 11A )x( .F si eulav hturt sti ecneh ,eslaf si tnemetats nevig eht oS .5 A¥A q tnemetats a ton si ti ecneh ,ecnetnes evitagorretni na si tI :noituloS .drah krow I neht ,repsorp I fI .e.i ¢ AAA¢ p fo
evitisopartnoc eht si p~ A A q .wal avoidaicossA )b( wal evitatummoC )a( sa nwonk si wal siht nehT .alobarap eht fo noitauque eht si x4 = 2y fi ylno dna fi enil thgiarts a fo noitauque eht si 0 = y + x )iii( ]T AjAA¢ T AA A T[.A A A AA 2 + 2x :noituloS .8 noitseuQ tnereffiD :rewsnA .)q A eht ,q A D lobmys ni tnemetats nevig ehT :noituloS .q
A§AXDOA¢ p si tnemetats nevig eht fo mrof cilobmys eht nehT .laretaliuque ton si CBAADA#: p teL :noituloS .q A AA¢ p si tnemetats nevig eht fo mrof cilobmys eht nehT .gninaem emas eht evah )iii( dna )i( stnemetats eht A’AA¢ .1 noitseuQ :evitanretla tcerroc eht esoohC )I( 1 Q: 2 is a number pair. (Xii) Do not come inside the room. (V) (A + B) 2 = A2
+ 2AB + B2 for all A, B R. (iii) It is not raining or the main declares a holiday. If two statements are two statements, then (p € q) a € "(a) contradiction (b) tautology (c) nor (a) No b) (d)) None of these responses: (b) Question of Tautology 12. Solution: The declaration given is equivalent to: It is not cloudy and it is still raining, Q: It is not cloudy. (ii) 10
~ The educated or aptois. (iv) A2 A¢ 4€ "B2 = (A + B) (an A ¢ €" b) forall A, B R. (vi) Himalaya is the largest mountain range. Which of the following are declarations? SOLUTION: Leave P: An angle is a straight angle. (ii) A¢€xA X2-9 for response: t [Tip: t & € "t = t] (iii) State if each of the following is true or Question 1. If A = {2, 3, 4,
5, 6, 7, 8}, determine the true value of each of the following statements: (i) A¢ Af A, such as 3x + 2> 9. (v) the pieces of the actions are high or the actions are not to rise if the actions are rising. SOLUTION: It is an open phrase, so it is not a statement. Likewise, the inputs in columns II) and IV) are idless. SOLUTION: SE(;AO P: The Sun If Pans.
Question 16. Question 17. (iii) If I do not work hard, then I do not prosper. Maharashtra State Board 12th Commerce Math Digest PDF 12th Commerce Math Digest PDF Part 1 Maharashtra State Board Std 12th Commerce Math Textbook Solutions Chapter 1 Mathematical Logic 12th Commerce Math Book PDF Chapter 2 Matrices STD 12 Commerce
Statistics Part 1 Digest PDF Chapter 3 Differentiation 12th Commerce Math Solution Book PDF Chapter 4 Applications of Derivatives 12th Commerce Math Notes Chapter 5 Integration 12th Commerce Math Digest PDF Chapter 6 Definite Integration 12 ° Maharashtra State Board Math Solution Book PDF Part 1 Chapter 7 Application Of Defining
Integration 12th Math 1 Digest PDF Chapter 8 Differential Equation And Applications 12th Commerce Math Solution Book PDF Part 2 HSC Math Textbook PDF Chapter 1 Commission, Brokerage and Discount 12th Math Digest PDF Part 2 Chapter 2 Insurance and Annuity 12 Math Book PDF State Board Chapter 3 Linear Regression 12th Math 2
Digest PDF Chapter 4 Time Series Chapter 4.Time Series 1 Chapter 4 Sést Rie Temporal Exercise Diverse 4 12th Matemotics Part 2 Digest PDF Chapter 5 Nations of Inex 12th Book of Statum Chapter 6 Linear Programming 12th Matemotlcs Book with RCIO PDF Chapter 7 Assignment and sequencing 122 Book of Mathematics PDF Chapter 8
Probability Distributions Maharashtra State Council Class 12 Solutions Text Book Balbharati Maharashtra State Council 12th Solution Book Matematic PDF Chapter 1 Mathematics Diverse 1 questions and answers. vii) ~ (A € 4 € oe”" A € ceT In case of a statement, write down true value: (i) What is a happy ending? Solution: It is an affirmation that is
true, so its true valueis T. A¢4a€[~a€a4€A+tAAA+tAAAAAAAAAAAAAAA A& e My favorites. Q: Taj Mahal is in Agra. SECAO P: The problem is easy. c) Morgana 4 € ¢ 4 € ceHe Law d) Distributive Right Answer: d) Distribution Right Question 4. (iii) If it rains, the principal declares a holiday. Since, ~ (A€ ¢ A€ ¢ A€ ~ ~ ~ ~ ~ ,A°oran
angle is of the 90's measure and it is not a straight angulation. A€ A€ A ™ A ~ (q A ¢§ P) (d) If 2 is a pair and cousin number, then the sum of two cousins also also par. Answer: False Question 2. Solution: Tautology An Instruction Pattern that has all the entries in the last column of your truth table as T is called Tautology. and Q: D is very good.

Then symbolic form of declaratlon A¢as oeThe is 1nte111gent or strong a€AAAAAa€E~(pAEQ Quest10n 7. Solution: The demal of the declaratlon glven is: & € ®No a € nor café. 1§€A A € a€a€ el (p~ a€ q) Sachin is happy. From, ~ t = f and ~ f = t, when we deny a The resulting instruction is false on each line of your table. Solutlon SECA £
Questlon Document is not easy. Con51der the following statements (i) if d is A dog, then d is very good Q:301)1II( -4 A .argA me .Atse ofAn lahaM jaT uo omirp orem2An mu ©A o £A AN" -4 ¢A :©A adad ofA§Aaralced ad 0£A§Aagen a ,euq edseD .omirp orem?An mu ©A 2 :P 0£A§A1dartnoc amu ©A algolotuat ad 0£A§Aagen a ajes uO 9 atnugreP
.zilef ©A ele uo ahba$ ayjaR od orbmem mu ©A ele ofAtne ,aditrap a ahnag nihcaS eS :0£A§AuloS )R "A Q(' ap)vi(.0 =yxffi,3)y + x( =3y + 3x)iiiv( .41 atnugreP .3 atnugrep q §A P atsopser omoc otircse etnemacilobmis ©A q e P sepA§Aaralced saud ed 0£A§AHUJDOC a1golotuat amu ©A ])Q ~( §A pl ADp~()g8Ap((.p=t§8Ap.7=5+4:p
exieD :0£A§AuloS .ovitisop orem2An mu ©A Z )vi( .ariedadrev ofA§Aamrifa ©A 52 = 2x .aigolotuat amu ©A ofA§Aidartnoc amu ed ofA§Aagen a ,amrof amsem aD .91 atnugreP Q ~ iAjA °a)Q §A P( ~ )vi()R SAP("A)QSAPGA°A)R "AQ(SAP Jili( )R A Q(°aR"A)Q"Ap()Q~ "Ap ~( §A )Q ~ "Ap(8A)Q "A P ~()i( :rop sodad ofAs siauD sO
:0£A§AuloS .odnibus ofAtse seuqotse so :Q .02 = 01 + 4 sioped ,01 = 5 + 2 es )i( :sepA§Aamrifa setniuges sad ovisartnoc ,osrevni ,osrevni o avercsE .lerahcab mu ©A ofAn ele ofAtne ,zilef ©A o£An memoh mu es ,.e.i Q ¢4'P ed ovitisartnoc o ©Ap ~'p ~ q ~ :ovitinopartnoC_ .socitn2Adi of£As 01 taht nrettap tnemetats A :noitcidartnoC .ycnegnitnoc a si
Dg~ ( A§AA¢ )p ([ AA Ag¢ Ip At~ A+ 01+ 4 fl .e.i ,d A)\<A¢ P fo ev1tlsopartnoc eht si p~ ATAATAA ¢ 5 + 2 neht ,02 AT01+ 4 fI .e.i ,q ANA¢ p fo evitisopartnoc eht si p~ At q~ :evitisopartoC .T si eulav hturt sti ecneh ,eurt si tnemetats nevig eht ,0S ,0S .0Q ASATA ¢ P A;AT¢ )q A)\h(p(~ )c( :rewsnA q~ §AT ¢ P~ AjATA¢ )d A§AT¢p(~ )d(
q~ ASATA¢ p AjAT¢ )q A3T'p(~ )c(~ A~ A AT¢ P~ jATA ¢ )q AP p~ ATA¢ a~. AjATA ¢ )q ATTE344444444333333333333(~ )a(.T si eulav hturt sti ecneh ,eurT si tnemetats nevig eht fo hturt eht stneserper margaid nneV eht nehT .repsorp ton od od I : q .god a si D neht ,doog yrev si D fI )ii( .lanoitarri eb tsum tI : q .4 nightQ .F .e.i eslaf si tnemetats
nevig eht fo eulav hturt eht ,ecneH FiAA¢ F AA A na ton si 5A)\AT(A)&AF¢ fo eulav hturt ehT .F eulav hturt evah q dna p htob fi F eulav hturt sah g A§AT¢ p .nesir sah nooM : q .T .e.i ,eurt was q dna p :noituloS .tnemetats a ton si ti ecneh ,ecnetnes evitarepmi na si tI :noituloS .scisyhP dna scitamehtaM sekil anoM )ii( .F era q dna p htob fo
seulav hturt ehT .sllaf dnamed neht ,sesaercni ecirp fI )i( lJq A AA ¢ g AjA AQ A¢ P :tniH[ :lanoitidnoc gnisu tuohtiw stnemetats gniwollof eht etirweR .eraugs a ton si ti neht ,submobhr a si laretalirdauq a fI )i( :AA F :rewsnA .F lla ron T lla rehtien era elbat hturt evoba eht fo nmuloc tsal eht ni seirtne ehT Da~( ASA )q ASAT¢ p(~[ Dvi(
AMAT(FAT(FAMz si eulav hturt sti ,ecneH .01 = 5 + 2 neht ,02 = 01 + 4 fI .e.i ¢ ATI'p fo esrevnoc eht si p ATT'q :esrevnoC .4 noitseuQ eslaF :rewsnA q~ A BPI'p~ fo eulav hturt neht ,eurt si ¢ A PAT¢ p fl .Fsi 6 < 3 + 2 2 CBA¢A. ralugnaiuge ©Ae oret.Ahuqe ©A ofAn CBAA A A«aA A¢A ¢A pA A¢A )q AA¢A p(~ ,edseD .siaer sezAar
saud met erpmes )0 AA¢A a( 0 = ¢ + xb + 2xa acitjArdauq o£A§Aauqe A )x( .racifitsu] ¢A ) SAAAAAAAAAAA A¢A p~( "AA¢A )q~ §AA¢A p( )i :edadilaud ad oipAcnirp o odnacilpa ,sepA§Aamrifa setniuges sad amu adac ed alpud a racidnl .ovitisop ©A laer orem?An adac ed odardauq O )ii( .5 = 2 AA¢A 9 uo 7 = 5 + 4 )i( :sepA§Aaralced setniuges
sad edadrev-serolav so ranimreteD .31 atnugreP .otiefrep odardauq orem?An mu ©A 3 es omirp oremAn mu ©A 3 )iii amt.AmetaM ed atsog anoM : p o£A§AeS 0£A§Au108 .otinob ©A maR :q .81 atnugreP .etrof ©A elE : q.q~ AA¢A p ©A acil*)Abmis amrof me adad of£A§Aaralced A 0£A§AuloS ?oriedadrev erpmes ©A setniuges sod lauQ .odnevohc
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q) The entries in columns 5 and 8 are idless. (iv) It is false that the actions are increasing and the pieces of the actions are high. (a) smoking is harmful to health (b) 2 + 2 = 4 (c) 2 is only until same number cousin (D) Come here Answer: (D) Come here Question 2. Express the following statements Symbolically: (i) proof is time consuming and is not
interesting. (XIIT) What a horrible vision was! Solution: It is an exclamatory sentence, so it is not a statement. Answer: True (iv) Solve the following: Question 1. Q: Sachin is a member of Rajya Sabha. Converse: q 'p is the inverse of p'd g q g.e. if I do not thrive, so I do not work hard. Solution: The returned statement can be written as: a € "If the
function is containted, then tangent for the curve exists. Leave P: The function is containted. Question 5. Leave p As (q AAA€= (p § Q) (P § R). Solution: The symbolic form of the declarations given are: (i) P § g (ii) p € g (iii) ~ (P?) (iv) g € Question 5. (iv) If it is not a dog, then it is not very good. (Viii) What are the causes of rural unemployment? Then
the VENN diagram is Represents the truth of the declaration given is as follows: (iii) Some members of the present Indian criquette are compromised. Which of the following options is not a statement? SOLUTION: The declaration given symbolically is (p § q) & € "p. Thus, the declaration p is a tautology. Then the declarations given in the symbol form
are: (i) P (ii) g g q 'p (iii) g (~ p (iv) ~ p (q inputs in columns (I) and (iii) are identical. from then, ~ (p ° q) ~ ~ ~ q, the denial of the declaration given is: a € It is not in India or Everest is not in Nepal. A and X B. (II) [(~ P A§ Q) A§ (Q A§ R)] A" (~ Q) Solution: [(~ P A§ Q) A§ (Q A§ R)] A" (~ Q) The entries in the last column of the truth table above are
not all T's or all F's. There are 24 months in a year. (iv) Kavita A brilliant and courageous. The rejection of the proposal "If 2 a cousin, then 3 a stranger", A© (a) if 2 a cousin, then 3 not a stranger (b) 2 a cousin and 3 not a stranger (c) 2 a cousin and 3 a© not a stranger (d) if 2 a © cousin, then 3 A © stranger: (b) 2 A© cousin and 3 A© quest Not a
odd 8. (iii) if it is not very good, then a dog is not very good. The truth values of both P and Q are T. to show that the denial of a tautology is a contradiction and vice versa: a true A© tautology in all ranks of your truth table. Which of the following is p open declaration? Answer: (b) (P) & "(~ ~ '~ p) A question of contradiction 5. Q: he's working hard.
What is a tautology? Q: We won't pass. Solution: Denial of the declaration given: 4— A¢ 4— A - A Leave P: Kanchenjunga is in . (ii) If demand falls, the price does not increase. Then the Venn diagram represents the truth of the statement given to© as below: question 21. The truth value of P'q A© T. Q: 3 There's a perfect square number.
Question 6. Question 22.R: Sum of two not even cousins. Maharashtra State Board HSC 12th Commerce Math & Statistics Digest PDF, 12th Commerce Maharashtra State Board Math Solution Book PDF Part 1 and 2 English language downloads MA®© dio and Marathi Medium 2021-2022. Solution: a mathematical identity that is true, therefore, its
truth value A© T. Q: 12 + 3 = 5. (iv) ~ (p A§ q) & '~ (q A§ p) solution: ~ (pg) & '~ (q A§p)a° ~ (tAst)A' ~(tA~~~~~~~~ ~ ~ ~ ~ ~ ~ ~ °a a°a°a °aTMfrom ~ (p) (q) a° a°~ ~ ~ ~ ~ Q, the rejection of the declaration given: A¢ a— "Ramesh isn't smart or not laborious. (iii) an Angle A© Right Angle if and only if it is of measurement 90
A°. (ii) If the proof is lengthy, then it is interesting. The truth value of ~ (P A" Q) A© T. True question 8. Denial of "some men are animals" All men are not animals. If p© the phrase A¢ a— "This statement A© falseA¢ a—, then (a) Value of truth of P A© t (b) Value of truth of P A© f (c) p A© true and false (d) p nA© true nor false

answer: (d) Neither truth nor false question 13. | .. [~ F) AjAjAjA° A° AjAjAjAjAA ° A e a® Aja° AADRORDC AR ARORKKXI® AROXI° AKX AROTO 4° ATO AR ARORKXI® aR<XI° AR<XI° alX<KXI° 4° 4° 4°a<XI° 4° 4°4°4°4°AT(ATO Question Improve your writing ability. Then the symbohc form of the statement
given 3 P As Q R: Not chal]engmg (iii) If the prices of pu are high, then p are not 1ncreasmg Type the dual for each of the following: (i) (~ P A§Q) (PA§ ~ Q) A" (~ P As ~ Q) (p a¢ A§ Q) A§ Ra°a °A§(QA§R) (iii) P A" (Q A§ r) 4 Solution: There is a declaration. (v) If Kiran drives a car, then Sameer will walk. Since (tA"f)a A"f)a "T 4 4 4 4 &4 &°
a° a °aTM 4 4 4°4°A4 4 4 4 4 4 &4 & & (iii) [~ (P) & '[(~ p)] solution: [~ (P14 'pl & "[(~ p) A§ (~ Q)] All entries in the last column of the truth table above are F. ~ (P A" Q) A" (~ P A§ Q) A© Logically equivalent to (a) ~ p (b) P (c) q (d) ~ Q Response: (a) ~ p hint: ~ (P A"Q)(~pAsqa° A" I(~PA§~Q A" (~pA§qQ A~pA°(~qA Q)
a° AjA ¢ A§ A¢ A§ ~ p Question 11. Q: Climb Mount Everest. Question 2. So the symbolic form 3 the statement given to P'a '(q A§ r) since, ~ (p4'Q) 4° 4°A¢ A¢ A§ ~Qand ~ (p A§q) = ~ P A" ~ Q, denial of the declaration given To©: A¢ &~ AXaA© bandx A A Q A© false when p and q have truth values . adad adad ofA§Aaralced ad
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